TR29FEE $68[H EIFHMXpPEKARS
#H:201746 5108 ~201746 8118

HrEX=

BFiRME—

B B £ 18 KIRISHIMA/ A E R h R BE 353515
HH FEAE] 14z 201 3fi1 41 5{i1 641 141 8{s
611 1EBF 100 it BEH(1) 12”53| %M w\A0) 12766|BER fAA0) 12°87| Rk EZEQ) 13"02| %% BH(1) 13718| Kz E (1) 1372688 1KE() 13727\t w|E) 13740
m
+1.0 AiEd A 4eh N EIGE— =AM ERG Xied Snfg e
, @ EAM 25751 |zt BEF(1) 25793 |#A 1EE(1) 26"92|#it FEth(1) 27"50| 2K &) 27750|1EBE K1) 27786| &  BA(1) 28762
6/10 200m
+0.1 A4 Xigd Kigdp FES = s AiE
#ALYE]) ‘;&L‘;ﬁ FRER MEAE(1) ztjgsg; nN& &= 449708[7F K BEXRA) 451780 E E(1) 4'56738[7F K BEARX) 500786| 5T #H:E() 5017243 EFHKA) 509756
6/11 1500m & =
Kigd XiEd _Bm%¥EEd AfEd __ KiR R Al N
, 2E5F W Bk(2) 11738|RERE fE#E(2) 11763k & AR 1779|428 EHtE(2) 11780| 51 EX(2) 12700[E L E&(2) 127251k HIA(2) 12725
6/11 100m
+3.5 ___Kigdh _ FrilH A=k LT RiEd AR FEH
, X&E WEQ 23795 E R (2) 24729 =k ERQ) 24780[/NE  KEI(2) 24793|mE Ki=E(2) 24795|F @ BEEHQ 24790 E @) 25730
6/10 200m
+0.6[ £HE&G LA __KigH A =g Frileh FriT e
=l XF(2) 427716|EK #AK(2) 429"82|#i K BN () 433”44\ H/1L Eh(2) 434799(FH HIIR(2) 4'39700( ¥ RR 1£4£(2) 439797|EHE KH(2) 441775 5% RAQ) 442753
6/11 1500m
£Bd ERES FEH A4 Kigd Al ch Algdh EA=R=
611 IERF 100 FER K@ %L%% AT AFIER) 11726k REXRER(3) 11740| Ak fEA(3) 11753|K;8 1ERK() 11756 (1L K (3) 11778| K% E£#O) 11778[ILR EE&(3) 12738
m =
+1.9 = 76 L#S XE AEdh BAE el A= Nz =P
) T AEIR) 22"63[[RE k(@) 23"07|FA #HFA3) 23724 |5k REBEARER(3) 23768|/K:8 1ERR(3) 23"72|lLAR  FEQ) 24702| AR #(3) 247558 FIFA(3) 24788
6/10 200m
+0.1 g =k E S __AfEH A=H BAES Adich A=k =
&2 F50) 419703[fAR 1&A(3) 420734|8R%  EQ) 4'20"68|F R #\H(3) 421744|FHE THEQ) 4'27706( )11} EEH(3) 4'30759|FFf KIE(3) 432736|HE FAAQ) 439781
6/11 1500m
] At =R A= A= Al E HEFh AfEH
611 HBEHF 400 Ak ENEO) 51;;2 A ) 53"12|;BH 3&#H(3) 53740|20 EEQ) 53"51|#TH Q) 56" 37|BElE F1E(3) 56794 F L HEE(2) 58736(;ZH Z(3) 59”76
m =
= KB AfEd AEH Aigeh e EIGE— gL =R
Bl FEEQ) 2'04"43|#F R #\H@3) 2'05718|#F# KIE(3) 205"31|HE FK®A) 206767|20 BIE®) 2'07784|HHZE THE(3) 2'10766| &1L =th(2) 2'12730|= % E3(3) 212742
6/10 800m
K= A= HEF e __Kier Kigdh __ Rl&dh A HHEH
&2 F050) 9'26”65|J11#% BEL(3) 927775|FAR &A®R) 9'31705|8k % ZE(3) 9'36”76(42E XF0(2) 9'40”33|# K BEM(2) 955"13| ZIEAFEBAG)  957720|=/E EEAN(3) 9’57739
6/10 3000m
] AIE EREMES H£HEG A= £Bd FEH Algdh RAES
=K BNE) 14747\ Ak BA(®) 157193 B BA®) 15734( 1185 FEA(3) 15"81|#TH  #2Q) 157953 EE@Q) 16759;th A #HE() 17748[AIL k(@3) 18705
6/10 110mH REFH K44
+1.5 = h = £HEG ___ EXHES AR FEH XEH =R
PNL 45732\ B2 KR H 46"16|.E BB H 46786| AR 47714 KiE 47725\ IR 47734| = I o 47738|ILHE 47742
ME $HEEQ) =R EEQ) e BAQ) 2k BAR(E) NI THE(3) HE 1&Q) ARG $RIKE) TS R
6/11 4x100mR| K REEAER(3) AK BNEO) ME #5FEO) £ NP NE)) &0 #E®R) HERE EH2(2) &Y #310) ZHE BH2)
AKX BAQ) NI%r HAQ) KE WEQ) A #E(3) INE KREN(2) AL B2 EK(3) FE KEQ) 21 HE(Q2)
B FREQ) Eg_ E@Q) AR Q) _FE Q) W Bk MR #HEQ F —0EQ) Fiul _ﬂnﬂ](S)
611 1&%‘“—&%1%00 W B(2) jé{%? RERE fEH2(2 P ES - 0)) 14"73|F % K4 (2) 15737|FAHE HED(2) 15784| K18 EX(2) 16705|RA  Z(2) 16"73|ALE  E&(2) 16777
mH =
+1.0 Kixgdh FriTeh XEH XiEd £BA 4B FEH X
Kigsh 48767\ & 09| A4k 50761| KiF 50798[E B 51714| B KMtE S 51725 F 5 —h 51776| ;I 52712
a2 2K £ IR Al wHh(2) I RKQ2) P8 K52 B F—(2) Wi (2 M @2
6/10 4x100mR| A #EE(1) SE PN /| sAM) =fE BXA) HBe &0 ®E E(1) R BZE(Q) #BE (1)
i FE(1) T FEh(1) E# iR HF F1K(1) F3E SHH(1) g EL() BREEM() WA KR
ZH KEQ) AE Q) FR3E 2im( HLE B2 B BEXRQ BE A £ AER(2) TE 32 FE JEHQ)
, Aﬁ%%%#m [I= 6] 1m62|# 8 ZEH(3) 1m59(# 7t FEQ) 1m56| AR 2(3) 1m45|[E0O K1) 1m45|FTE MER) 1m40 m:tfr‘éxﬁrs(s) 1m35/&20 KB1) 1m35
6/11 =
- o i — R AT ERAT At sfhen Atk Kz
) - ETITIEC)) 3m30(AITH ML) 2m90|FH HH(2) 2m80| LU AR ER(3) 2m50|RER BH(Q2) 2m40
6/10 =
- EuE— A At A BiBE—h
& EEQ) 6m34|E RAIAER3) 5m90[5k & FEh(3) 5m90( I EF(3) 5m60(3}kJt  &(3) 5m57|lL0 KF5(3) 5m56[#7t FE(3) 5mb55[#3 Eb BB & (3) 5m23
6/10 ENE Bk -14 +2.9 +1.4 +0.5 +0.2 +1.1 +0.3 +0.1
EXMES A 4 HEG EXAMES £HEG Algeh & Frileh

1/3




ER29FE $£68[E EFihX ik

pics 31

H#iR:201746 H10B~201746 8118

>

HrEX=

BFREB—E

B B £ 18 KIRISHIMA/ A E R h R BE 353515

HH FEAE] 14z 201 3fi1 41 5{i1 641 141 8{s
HEBRTF S5 BEQ) 13m0O8|3RT  &(3) 12m27| B REIAENR) 12m15|5k K B h(3) 11m52|5t  £EQ) 11m07|lia KF5(3) 10m92[;aI ¥ FIA(3) 10m80|#a4t &H1=(3) 10m58

6/11 =Bk +1.3 +2.0 +1.6 +2.0 +1.1 +0.8 +1.0 +0.9

=N _£BEBd A £ HEH ___f¥Ee# Al = =ias) HIFE—h
611 _— M #KFHE) 10m77|5  32FQ) Im72|FkE FBK(3) 9m46 | FRIEFEAR) 8m86|E AR Z M (2) 8m10[; ¥ EE(3) 8m08| B LLUINEEAR) Tm91 Bk FHAQ) m79
> £ HET EERE G hn#s e HE$ AEd £ HFET FiTd A4

BEBHs *£B&H 54 | KEh 52 5 | A $heh 458 | Kigdh 435 | ERKEF 384 | KTEH 335 | KiEH 2855 |[EHEH 20
(+599) KEH 50/ | KigH 43E|EBES 345 | KiFth 28 | KRTEH 275 | Rifch 27 E | EXKEH 235 |[L#EH 208
(24=1LF) *£B&H 2055 | R4 180 | B KHEF 150 | BIEE—h 138 | £ B/ 8m | KTt 65 |FRiLH 6 |EIFEF 58

2/3



ERH29FE F68EH EBBMRAFREEARBTRE
#H:201746 5108 ~201746 8118

R =]

£°8

FREB—ER

B B £ 18 KIRISHIMA/ A E R h R BE 353515
HH[ = H 112 20L 30 4% 50L 6L i 8L
, 1EL&F @ F&0) 13732|i&8 () 13"42|#fA FEQ) 13°71|1 88 E2#() 13797|thy& REQ) 13799|%#%& BEEF(1) 14706| @ H3(1) 14710|#3# FOF(1) 14”13
6/11 100m
+2.1 Kigdh XiEd BARE E=1an _FRiTEn =P =P __ A
, e eE1) 27792[#&X €£i&E() 28”05\ K EE(1) 29702|#F FF(D) 29"03| KR =1 30726 B IHMEEQ) 30729 EAEHEN) 31707|B5  #@(1) 31709
6/10 200m
+0.4 Kigdp Xigd Aigd A HIFEH £BE& =y il =y 1)
I HO) 2'25"26| AR £iE(1) 2'30"15|FHHE =#&(1) 236711 [ Z&F0) 2'37"31| 2 F1e0) 237748\ B NITHEBEN)  2'39738[AIEF FHiTv(1) 2'43"77\/RA (1) 2'46772
6/11 800m
Kigd XiEdh =SS E G A4 eh A= £BE B & Pk
, 2FRF B HHEQ) 12763|/N& FtH(2) 13”03| KA %*E(2) 13"09|JIl[] 7%5H2) 13"23|B8a FE(2) 13725(lL0 F=F(2) 13"41|3x st TEE(Q2) 13"52|ILA ZE(2) 13782
6/11 100m
+2.0 __Kigdp R R4 __Eigdkdh HISHE G Algdh EISFE F
, B HEQ) 25797/ KE XEQ2) 26"73[ER F=Hk(2) 27722|/MR EE(Q2) 27746|MB #HEQ) 27772\ 2$HQ2) 27794| I FEQ) 28728|@k)Il E#&(2) 28737
6/10 200m
+0.6 Kied A EIFREG Algh Algrh __EiFded AfEg XiE
A ER(Q2) 224780|EK ZE(2) 2'28740 aaszsﬁii/‘(z) 2'33742[kA 103 TH(2) 2'34760| &4 ZFHQ) 2'36783[1EHE ZEF(2) 2'36785|=k  WH(2) 237746 H () 2'37752
6/11 800m
o EIGE G = FEE A __EISEH AR A= R4 B [k
) SELF SHl FE@Q) 12769/NARVEZDE)  12783[A I HZEOQ) 12795\t EZE(3) 12796(82 & (3) 12798[BLM FOR(3) 13718[iZHLHYUQ) 13730| %% £HE@) 13737
6/11 100m
+1.4 XiEd BAE £ Hd AEdh A4ch = AR 4ich g
SHl FEQ@) 26714 &)1l #E3) 26"72|t%8& #ETH(3) 26778| KRB #REEQ) 27700\ JE;LHFEZE(3) 27714|B 5 REQ) 27780[ER HH(3) 277860  2(3) 28709
6/10 200m
+0.2 Kigdp 4B R4 Al h FES Adieh hngkep H£BEG
BE ZEQ) 225" 14| 2 mIEQ3) 2'25720(BF &HZEQ) 2'26790[ILA ETE®M) 229"10|EKR E#x(3) 2'30783[4VE EE(3) 2'31729[#1L #A(3) 2'35"10|5EA KL MD(3) 2'39737
6/11 800m
Kigd Xz AR 4ich H£HEG £ HEG £ Hdh R [
HBLZF =R AEM 4'50"30|ErHT E3(2) 454"19|BF  ZE(@Q) 454724\ AFT BHZEQ) 5'03"60( 5V E EE(3) 5'06"69| 2K BE(2) 507724(ILO £E{EQ) 511736[1EE ZEF(2) 514773
6/10 1500m
__KiEd = Kigd _ _A#fjrh _AH _EURERG 4£HEG __EA®
6/10 100 R EZE@Q) jéﬂ%? KE £Z@) 15744|5818 BKB@) 15”69 =1L FEEQ) 15779|hnik  2(3) 15792|#Frh B H(3) 16720\ &% ZF4H(3) 16”79 Fl EZR®) 17754
mH =
+1.1 XEd A=Ed =EXMES XiEd £HEG =y S HIFH G FES
Kigh 50741 | AR ch 51709 TR AEH 51763/ & & 53707 Al&th 53725| S @t 53”56| K= H 53763| i0fA 53775
=il EEQ) HE REEQ) ElEE FIREA) R Hi(2) o E=FQ2) % N C) SAME HER(3) HET EE@Q)
6/11 4x100mR| B HHEQ2) AR £5(2) NRRVZEDE) EF FERQ) XE #HEEO) sl 2(3) PR BEEQ) HF FEEO)
ﬁIJ %E(s) BE #Wne) EBEI B%(2) PRI S Z(3) MR EEQ2) [RE 1&Q) KE Q) WA REQ)
2H ZEHLHYE =% Bi#5Q) Bk E4(Q2) _FH  #BQO) B BER©Q =BE BKEG) it ()
611 1&%‘“—&#%80 Eg= ﬁ%ﬂ(z) 12°70[/NE FtH(2) 12771380 Fi+(Q2) 12”8418t E15(2) 12791 |FREV M BH(2) 1372587l F5(2) 13738( REVET=(2) 13748
mH
+1.2 FES P B XiEdh £ HEG A HIGFEG
ES L 54”17/ 0k ep 54762/ B KHiEH 54"86| K7L F 54790 | = Fa bt /R H 55725 R K= H 55”46 A& 56”55 | L 56”58
BE BE©2 A"t 22X I 3XTH(2) I%ig#')—(z) BAFEDQ2) FE &1 =l A/ ER B2
6/10 4x100mR| 3 F FOF(1) At EF #% HmEF THE EEER(1) ML EER(T) ) BREFIEETH(1) AR W)
KE BIE() ‘Fﬁ (1) FH H35(1) EE %%(1) =mE BE0 aH E2&0) WE FTE) Exn #EM
NG FEBR(2) NHE_ EEE2) Bl £Z(2) HEF $(02) MR FEFQ) ik B2 HE 5302
611 ,xﬁt%%d_m =EE KHEO) k@;ﬁ HE BxQ) IS REC) 1m41 %Er *ﬁ(s) 1m38| L8 EFQ) 1m35| FESZEFQ) 1m30[#& A REQ) 1m0 AREEF(3) 1m30
- xEH ST T ST KE HEah e EE—h
Rkt TEXQ2) 4m92|iERY @) 4m82(lLA EF(2) 4m71|izHLBYG) 4m69|RIE K R(@3) 4m61|h 2 &2 F(3) 4m46| S8 LH#EQ) am44| kR EEF@Q) 4m41
6/11 E i Bk +1.0 +1.1 +1.2 +0.9 +0.0 +0.4 +0.4 +0.5
=y il fn#s e Al A = XMEH AiZd AEH =
- mE EEFQ) 10m69|#riE 15F(3) 10m62|F F=<5(3) 10m41|EE BERA) om28|fRE #F1(2) om19|EHE —1n(3) 8m94|JIiE EME®Q) 8m83|AHEFH L E(2) 8m75
6/10 43
> Xied EIFE G RAEH X=d Kiggp EIFE G ReEd Xigd
BER/R Kigdh 98 2 | AR 4iep 53m | KB 274 | BIEE S R | BEKEH 195 | Al 15R|EEH 14| FRiIh 1455
(b79%9) Kige 90/ | A4 50 | B IF R 175 | KEh 16| EKREH 158 |fEE S 145 |4 Bh 135 | &t 1288
(74— FiLh 128 | KEH 18| KiEh 8 | BTG G 6 | EIFERF 65| INfAch SR|ERKEH 45| Algh 455

3/3




